
NV..A(-..)-RE / SV..A(-..)-RE

www.belimo.com M6-NV..A(-..)-RE / SV..A(-..)-RE • v1.1 • 12.2012 1 / 5

71
41

5-
00

00
1.

B

1 x UNF 3/8“ - 24

1 x UNF 1/4“ - 28

1 x 4-6mm

1 x 8-10mm

1 x UNF 1/4“ - 32

1 x M10

1 x M8

1 x M6

2 x

2 x M8 x 12

2 x M8

optional
M8

2

2

4mm/9Nm

*

*

*

1 *

op
tio

na
l

1

optional

2

3 4 Rotate the top part of adapter 
until firmly on top of valve stem
(i.e. stem adapter is not sloppy)

Teeth are required if valve 
has threaded bonnet

Figure 1

Figure 2

Stem Adapter

Valve Stem

Bonnet Types

Notch Stem:

Fit the stem adapter on the 
notch stem (Figure 1)

Threaded Stem:

1. Fit nut to threaded stem
2. Fit adapter to valve stem
(Figure 2)

1 x UNF 3/8“ - 24

1 x UNF 1/4“ - 28

1 x 4-6mm

1 x 8-10mm

1 x UNF 1/4“ - 32

1 x M10

1 x M8

1 x M6

2 x

2 x M8 x 12

2 x M8

optional

WARNING !!!

The adhesive glue will harden 
within 30 minutes to 1 hour, 
then the adapter cannot be 
turned. To re-adjust the stem, 
please use hot water to soften 
the thread-locking glue.

Rotate chuck until adapter 
is firmly around valve stem

Pre-glued parts

*

* 

* 

* 

* 

* 

**

* Refer to Page 5

1 x UNF 3/8“ - 24

1 x UNF 1/4“ - 28

1 x 4-6mm

1 x 8-10mm

1 x UNF 1/4“ - 32

1 x M10

1 x M8

1 x M6

2 x

2 x M8 x 12

2 x M8

optional

1 x UNF 3/8“ - 24

1 x UNF 1/4“ - 28

1 x 4-6mm

1 x 8-10mm

1 x UNF 1/4“ - 32

1 x M10

1 x M8

1 x M6

2 x

2 x M8 x 12

2 x M8

optional

1 x UNF 3/8“ - 24

1 x UNF 1/4“ - 28

1 x 4-6mm

1 x 8-10mm

1 x UNF 1/4“ - 32

1 x M10

1 x M8

1 x M6

2 x

2 x M8 x 12

2 x M8

optional

Cable Gland

**
*



2 / 5 M6-NV..A(-..)-RE / SV..A(-..)-RE • v1.1 • 12.2012 www.belimo.com

NV..A(-..)-RE / SV..A(-..)-RE

4mm/5Nm

1
2

5 6

Remove and discard 
the red centring device

Step 1:
Fit the linkage riser onto 
bonnet clamp, align 
the red centring device 
with the top of the stem 
adapter

Step 2: 
Use allen key to tigh-
ten linkage riser onto 
bonnet clamp

a) b)

8a 8b

7

 

 

 

Valve
(Down to close)

Go through steps
8b to 11b

A AB

A AB

A AB

Direct Acting

Valve
(Up to close)

Go through steps
8a to 11a

Control Signal
0 volts input = close
10 volts input = open

Control Signal
10 volts input = close
0 volts input = open

Reverse Acting

B



3 / 5 M6-NV..A(-..)-RE / SV..A(-..)-RE • v1.1 • 12.2012 www.belimo.com

NV..A(-..)-RE / SV..A(-..)-RE

9b9a

4mm
1

2

3 720°

1
4mm 2

3 720°

8a

10a

8b

10b

Step 1: Hold manual override button down
Step 2: Rotate counter-clockwise until stopped
Step 3: Rotate 2 turns (720 °) clockwise to ensure 
valve will have tight close off

Slide the actuator down to the linkage riser until 
the valve stem and coupling click together

Slide the actuator down to the linkage riser until 
the valve stem and coupling click together

Step 1: Hold manual override button down
Step 2: Rotate clockwise until stopped 
Step 3: Rotate 2 turns (720 °) counter-clockwise to 
ensure valve will have tight close off

Lock the adapter into actuator stem coupling Lock the adapter into actuator stem coupling



4 / 5 M6-NV..A(-..)-RE / SV..A(-..)-RE • v1.1 • 12.2012 www.belimo.com

NV..A(-..)-RE / SV..A(-..)-RE

1

3
4mm/5Nm

2

2

3

1

3
4mm/5Nm

2

2

3

11a 11b

6mm

35mm 4...6mm

6...8mm

8...10mm

max. 4Nm
22

op
tio

na
l

op
tio

na
l

Step 1: Lift actuator to fully extend valve stem
Step 2: Ensure slide locks are engaged with linkage riser
Step 3: Use allen key to tighten the slide locks

Step 1: Push down actuator to fully retract valve stem
Step 2: Ensure slide locks are engaged with linkage riser
Step 3: Use allen key to tighten the slide locks



5 / 5 M6-NV..A(-..)-RE / SV..A(-..)-RE • v1.1 • 12.2012 www.belimo.com

NV..A(-..)-RE / SV..A(-..)-RE

AC 24 V / DC 24 V 

1 2 3 

– + 

T ~

b

a

N L 

1 2 3 

b

a

AC 24 V / DC 24 V

1 2 3

0

– + 

T ~

b

a

b

a

1 2 3 

0 

N L 

b

a

b

a

AC 24 V / DC 24 V

Y  
U   

1 32 5

–     + 
T ~

NV(C)230A-RE
SV(C)230A-RE

NV(C)230A-RE
SV(C)230A-RE

NV(C)24A-RE
SV(C)24A-RE

NV(C)24A-MP-RE
SV(C)24A-MP-RE

NV(C)24A-RE
SV(C)24A-RE

DC (0) 0.5 ... 10 V
MP

b

a

b

a

b

a

b

a

AC 230 V

AC 230 V

!

!

*  Please note:

If you need to re-assemble or re-adjust below parts, the existing adhesive glue will no longer be effective

1)	 Pre-glued nuts (* P.1)
2)	 Pre-glued adapter (**P.1)

You are required to re-apply the adhesive glue on above parts, otherwise the possibility of the linkage coming loose increases and 
the operation may fail in a short time period.

Standard Loctite glue may not have the required strength adhesive. Please select high strength adhesive glue which is suitable 
for heavy-duty, shock, vibration and high stress level. 

Recommended brand:  Loctite 2760 High Strength Threadlocker.


